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Question 1
a) 

There are some few reasons that the companies may wish to omit asset and liability:
· Devaluation of asset – If the equipment , property and plant are lease less than 75%, it will not involve any depreciation expense on asset, it will goes to rent expense on income statement

· Less tax - decrease the depreciation expense on the income statement, it can show a higher net income on the income statement.

· Creditability – If there’s too much liability, it will affect the net income because the company has to pay more interest plus other costs.  To omit liability which can make the company look healthier, less liability which means the debt is less, and the company takes a less risk position.  It will lead the company easier to borrow money from a bank with a lower interest rate plus the shareholder will like the company more, base on the capital structure of the company, equity more than the debt.
b)

IFRS is substance base and GAAP is form based.

· GAAP is based on a set of rules and which is not flexible, some of the transaction might be not clear.

· IFRS is more reliable and it referred to as economic substance over form.  Accounting should reflect the substance of a transaction, it will be much more reliable and more clear on each transaction.
c)

The controller of company A proposes this transaction as sales:

Company A sold the land to Company B for 20 million, and the price of the land is 30 million.  However, it gives a right to company A can buy back the land with the sales price with 1% commission fee in 5 years, no matter what the future price is.  In this transaction Company A still have the power to buy back the land if it see there’s a profitable gain in the future, so we cannot say that Company A has actual loss in this transaction until 5 years later.
Question 2
a)

No, the asset in the financial statements based on their historical cost.

Three examples departure from historical cost:

1. Revaluation model

· The historical cost doesn’t have to be keep after revaluation.  We can ignore the historical cost and take the revaluation number to carry it to next year.  The depreciation expense also has to be adjusted in the transaction.
2. Inflation
· There will be a risk if the company does not adjust the historical cost when there’s inflation.  If the company keeps the historical cost then the asset might be under value, so we have to adjust it the value when inflation happens.
3. Inventory
· The inventory has to revalue departure from historical cost, depends on the economics.  Otherwise, the financial statement will be off by using historical cost, by compare it to the economic.
b)
It is not acceptable to revalue properties that have a current value that is above their historical cost based carrying value.  We have to always mark it down and not able to mark it up until we sell the asset, then we will mark it in gain on disposal.  
· Under the revaluation model, exceed current value will put it in the revaluation surplus, less than current value we will put it in impairment loss.
· Under the cost model, we do not have to do anything if the current value is higher, but we have to mark it down if there’s a loss.
c)

Any surplus on revaluation CANNOT be including in income to improve earnings per share.  The revaluation surplus will only appear on the balance and it will not appear on income statement.  The revaluation surplus also will not affect the equity, so it will not improve earnings per share if we revalue an asset.
Question 3

Asset A

Historical Cost
$5000

Revaluation Surplus
$2500

Depreciation expense
$500
Date
Account
B/S
I/S
R.S
R.E

Jan 1, 08
Asset A
$5000


Revaluation Surplus
$2500

$2500



$7500


Depreciation
$(750)
$(750)
$(250)
$250

Dec 31, 08


$6750

$2250


Impairment loss
$(200)

$(200)



$6550
$(750)
$2050
$250

Journal Entries
Dec 31, 08
Debit
Depreciation Expense
$750


Credit
Accumulated Depreciation
$750


Debit
Revaluation Surplus
$250


Credit
Retain Earning
$250


Debit
Revaluation Surplus
$200


Credit
Asset A
$200

Asset B

Journal Entries
Dec 31, 08
Debit
Depreciation Expense
$50


Credit
Accumulated Depreciation
$50


Debit
Revaluation Surplus
$20


Credit
Retain Earning
$20


Debit
Asset   B
$300


Credit
Revaluation Surplus
$300

Asset C

Historical Cost
$500

Revaluation Surplus
$200

Sold for $170

Journal Entries

Dec 31, 08
Debit
Cash
$170


Debit
Revaluation Surplus
$50



Credit
Asset C
$100


Credit
Retain Earning
$50


Credit
Gain on Disposal
$70

Question 4

a)

The impairment loss will be recognized when:

· The carrying amount of an asset or a cash generating unit exceeds its recoverable amount.

· If the asset is individual, the impairment loss will only mark on individual asset.  If the asset is CGU, we should recognizing and measuring and impairment loss on both CGU and goodwill.

· CGU and individual asset can reverse an impairment loss, but goodwill cannot be reverse.
b)

If the plant continues be used:

· We do not have to consider about the impairment loss because the carrying value is higher than the recoverable amount.

· We have to increase the depreciation expense because the plant cannot last for 5 years after the damage.
· The entries will be: Debit R.S, Credit R.E, increase Dep. Exp.

If the plant will be replace:

· There will be no commercial substance if replacing the asset. We should use the fair value of the old equipment.
Question 5

a)

Purchase price = $1,000,000

Asset

Equity
50,000

Equipment
40,000
Liabilities
40,000
Computer
20,000

Cash
30,000

90,000

90,000

Fair Value of Noncurrent Asset: Equipment
$50,000
                                                     Computer
$40,000

                                                     Total

$90,000

Brand: $50,000

Fair Value of Net Asset = $90,000 + $30,000 - $40,000 = $80,000

Goodwill of St. Remy = $1,000,000 - $80,000 - $50,000 = $870,000

b)

Yes, Cognac allows capitalizing the internally generated brands of company St. Remy.  St. Remy is Cognac’s asset and they can capitalize the brand and the company under circumstances.
c)

The goodwill should always mark down in the financial report of company.

· Should treat it as depreciation (straight line method)

· Goodwill has to mark it when there’s a loss, but it cannot be mark up when you have a gain.

